¥ :ERERU—ADI—D (EH2949A3H(H)

: XY RSAITR—=L40)

2[o]i
1 2 3 4 5 6 7 8 9 aaf| E
LI 1 0 2 0 0 1 0 1 0 5 0
EIREDW 0 0 0 0 0 0 0 0 0 0 -
MRLEERES 3 1 0 0 1 0 0 0 X 5 =
T 3 2 0 2 2 1 1 0 X 11 1
[BFF] <MMUEEHRRS> WF AR
1| <Hs K& 16 | 2[E | 36 | 46 | 5E | 6E | 7E,| 8E | 9E || 18 | =47 | 1= | B2 | &K
1 9 ERRZE | Afl (P | thiil KR 5 4 1
2 8 | FHfEKER| HEl | =ik R amR 10 5 1
3 3 FHX FOEk (48P ek uEk FEEK 1 1
4 | DH e | =R | R B PoEk =R 4
5 5 NHER | A= =i A= |#10 4 2 3
3 7 EHAE | 100 =R b =R 4
7 ARATER
7 2 JKEME—EB | PuBk —1'n —1'n = 3 1
8 6 AORE | AR #%1°0 (Z&=Ri(1) FhR 4 1 1 1)
9 4 EEHSB —1'0 g =R | ¥31°0 4 1 1
4 AT
X1PB(C kDR % BT ®F I
(i5F] <MPLESHKRRE>
K4 E1 T8 (WERE| =T | smm | T (MSERR| =R | kR |BES| (BFEEF]  n@EGH
@A 9@ 34 | 115 5 1 7 0 0 [(Z2847] =R, "H. KH
[=84T] /A
[#F] <MMUEERRE>
K4 IRIR IBhE 5] K2R
JKE{E—EB
(B5F] <EREDW>
1| <HE K& 16 | 2[E | 36 | 46 | 5E | 6E | 7E | 8E | 9E || 18 | =47 | 1= | B2 | &K
1 6 RE b th 1 VShi 4 1
2 8 Rk gl a= b T 4 3
3 LA —I1no =ix 1 =10 4
4| DH HaAt =i PoEk i —1'0 3 1
. 5 gl —E [#&710 TR 3
PH At e 1
9 AR —1'0
6 PH ES 10 1
=l %10 =R 3
7 e —7R 7R =ix —1n| 4
8 Bl | =R =i 3
= = —R 2
9 PH T =R 1
7 BH
(iF] <EREDW>
K4 E1 78 [I9EREN| =97 | xmm | 4R$T (UBEER| =iR | Kk |BIES| (BEEEF] 1L
iy 1[3] 8 32 3 2 1 3 3 [Z81T] &K
#5%F 4D 18 67 6 1 3 2 2
SN 2[o] 10 40 2 2 2
AR e 4 19 1 1
(#F] <EREDW>
K4 IR IBE 5] K2R
H 1 1




